
Math 26L.04
Normal Distributions

For −∞ < t < ∞, the normal density function is

p(t) =
1√
2πσ

e−
(t−µ)2

2σ2

where µ is the mean and σ > 0 is the standard deviation (or spread).

This first graph shows three normal density curves. All three have σ = 1, but one has µ = 0, one has
µ = 1, and one has µ = −1.
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This second graph shows three normal density curves. All three have µ = 0, but one has σ = 2, one has
σ = 1/2, and one has σ = 1/4.
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This third graph also shows three normal density curves. However, the first curve has µ = 0 and σ = 2,
the second curve has µ = −1 and σ = 1/2, and the third curve has µ = 1 and σ = 1/4.
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